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Total No. of Questions : 26 ) [ Total No. of Printed Pages : 8
'K-202201-A
fowm : oifv-wrea
Subject : Physics
Y : 3We | [ qoit : 70
Time : 3 hours ] [ Maximum Marks : 70

frdor : () oot v afEd €1 W vE-TE F g9 26 v €
Instructions : All questions are compulsory. There are 26 questions in all.

(i) T YE-T9 & 9 W §—Wvs-3, WUe-4, TUS-H, WvE-T AR wUs-3|
This question paper has five sections—Section-A, Section-B, Section-C,
Section-D and Section-E.

(i) TE-AF TN TE E, e w1 dF I davEE, W F

23Ff1EE-R i TE WA E, s S 3 e E 1w A4 T w®
vt R grg A davE €, v@s &5 oim &)
Section-A contains five questions of 1 mark each. Section-B contains
five questions of 2 marks each. Section-C contains twelve questions
of 3 marks each. Section-D contains one question of 4 marks and
Section-E contains three questions of 5 marks each.

(iv) @Us-T adl @vs-3 & a4t vl ¥ i fawew % wawm €

Internal choices are given in all questions of Section-D and Section-E.
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WUE-31 / (Section-A)

R %1 fa s feau Sa ® 2 (1]
What is the rest mass of photon?

o Y& witaw ¥ e 3 sgfe fromh swh §, @ fee wER =

Fguew A A ¥ ? [1]
When antimony impurity is added to pure germanium, which type of
semiconductor is obtained?

AT ST T 91 € ? o SI AE fafag) [%+Ys=1])
What is volume charge density? Write its SI unit.
e urn % fag @ufehy wfew feen @m? (1)

What is the capacitive reactance for a direct current?

o T W g S A § 2 1]
Which mirror has an infinite focal length?

WUs-N / (Section-B)

Tt 7 fefaea farm o 1 2 i fafag) [2]
Write two differences between Analog and Digital Signals.

wrnftre WA TR ¥ fag frargsll & wam s o &1 =02 (2]
Alloys are used to make the standard resistance. Why?

o1 oftqy & 4 3l B & 9 g wiftan 7 sifa [2]

A e s
3uF | 3pF 3pF

Find out equivalent capacitance between the points 4 and B in the
following circuit :

A o— s
3w | W  3F
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WM-12

TF-13

u™-14

=15

- ~121]

e faeda o iR faads o @ s fafag) [1+1=2]
Write the two differences between Fresnel and Fraunhofer diffraction.

T HE 9 H AR 7600 + 20% 3 § 1 396 T %1 9 98T [2]

The resistance of carbon resistor is 7600 + 20% ohms. Write the

order of colour rings for it.

WUT-T / (Section-C)

AR 1 I Hige & 9 AirEa fafa) [1+1+1=3]
Write the three postulates of Bohr’s atomic model.

FaEa a0l w1 It fRe YR R s €2 39 @ e swEm

fafaw) [1+2=3]
How infrared waves are produced? Write its two important uses.

fog wify fo& o1 frals 1 =orm a8 @ ¢ s vl
Wedafeea yard # foree & RO T Ft TEm, & 9F 5 éﬁmﬂ

T® vt ¥ [3]
The reciprocal of decay constant is that time during which the

number of active nuclei of radioactive substahoeredm% times of

the initial value of number of nuclei. Prove it.

e wels e 1 AR TRy ane TRy Ft g § aga sfew 6, @
3N frw w0 F Srgd W sfsan aro wra gt € 2 anmse) [142=3]
If internal resistance of each cell is much greater than the external
resistance, which combination gives the maximum current? Explain.

@ U A 9 TASE T ¢, = 62 + 7t + 1 ¥, el ¢, % 7 frch-

Aay a1 ¢ AN AHTH ¥ |+ =2 VT WY H fran e v
Wadmd? [2+1=3]
The magnetic flux linked with a closed loop is ¢, = 6¢* + 7t + 1, where

¢, in milli-weber and ¢ in second. What will be the induced e.m.f. after

t =2 seconds?
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w-22 mmw%?mamwmi [1+2=3]
What is eptical fibre? Write its two important uses.

WUB-T / (Section-D)
WHF-23 TSI 3 SR % ST 28O T o1 | 981 & U 29 e foras fran o,
L g faees I T @ O SR A o, 9 i =) ol 3
W 4TI 3 T A7 A B g w7 w5t afa F don swwt g
Y@ F TAE 87 S &4 @Rl B FRd §, weraey 9% iRl W
Taga-ames %@ 3w & < 1 e s 1 <k F 2R o S
¢ fordt forepies vod ghm A w3 €
W ATV F AR T e vl & s A [1+2+1=4]
() WMofrgr-mrsaFasmsme?
v ST g ara ) e s @ P w5 am s faflag
(i) ¥ F T i = el e (= ) ?
Ajay and his friends went for a walk. There they saw a metallic chain
attached to a truck touching the ground. It was also written on the
truck, “beware highly inflammable”. Ajay explained to his friends
that during motion of truck, magnetic lines of the earth are cut by its
axle and due to this some e.m.f. will be induced across its ends. This
induced charge is discharging to the earth through this metallic chain
and explosive materials are safe. http://www.cgboardonline.com

Answer the following questions on the basis of the above paragraph :
(/) When does an induced e.m.f. produce?

(/) Name and state the law which gives direction of induced current.
(iti) Write the values displayed by Ajay (any fwo).

srerar
OR
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[6]
fror o7 Wt 3 ) et o R SR e ¥ Poe- % % v AR
& W & fae B R = w9 i 3w faee 3¢ v W AR
W11 W& YA Afirg 3 Facemez gt SR s vee 39w w6 sk A
TRt | I Y F G svet R sl ywat werm R e s
wg fam)
T ATRT F IR W =y wedl F IS [2+1+1=4)
() ¥ er yfi *t deew i smfa | 2
(i) e < faga vt I F W@ €, S ¥ aftsiw F T
el STE F € 1702
(iif) a3 T sl = vl fear (@) 2
Vijay walked bare foot to replace the fuse wire in kit-kat fitted with
the alternating current supply mains for his house. Suddenly he
screamed and fall on the floor. His son Amit heared the cries and
rashed to the place with shoes on. He took a2 wooden baton and used
it to switch off the mains supply. '
Answer the following questions on the basis of zbove paragrapth :
() What is the voltage and frequency of mains supply in India?
(if) These days most of the electrical devices we use require A.C.
voltage. Why?
(iif) Write the values displayed by Amit (any fwo).
WUs-3 / (Section-E)
wWT-24 Tt voae o & foe fag =it f
ool
g1 dl & war ard €1 [5]
For a thin lens, prove that
7=l

where symbols have their usual meanings.

NM-38A
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WHF-26
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Hqar
OR

g gEreell @ et st wifa aw s e % fag see
o= ity srafn ifem wiafi v gfe o+t <pem g w ) [2+3=5]
Draw the ray diagram to show the formation of image by compound

microscope and obtain an expression for the magnifying power when
final image is formed at least distance of distinct vision.

forra yraTe! JUeR FvS ¥ 39 & fw fed fag W TEw 4w
& fore =fwr wra sifeg) [5]

Deduce an expression for magnetic field at a point on the axis of a
current carrying circular coil.
Haar
OR

aaﬁrsaﬁmthﬁ%?ﬁaﬁa' FHEE HITH T AT YEfay ¥ 8y
a1 fog T #t v w8 Al uro st & e F e ot
2 [1+2+2=5]

What is moving coil galvanometer? Draw labelled diagram of
suspended coil galvanometer and prove that the deflection of a coil
is directly proportional to the current flowing through it.

fag #ifg 7 et st g= & PR oo ol fagn woee 39 ag

TS ¥ Y U T HAW H 'sl‘, T R R, SR €, T AW
fergaefiern @ | 50 W9 T oft fofae 1 Ak TRv RIS F I, @

forga wem %1 =M foaen €m 2 [1+3+1=5]
Prove that the total electric flux associated with a closed

surface is Eio times the total charge present inside the closed surface,

where g, is permittivity of free space. Write also name of the theorem.

What will be the value of electric flux if the charge lies outside the

closed surface?
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(8]
rerar
OR

e # feafr e = € 2 Y o S Sifeg | T8 S

w0 3 i el vt ot ¥ 2 [1+2+2=5]
What is the potential energy of a capacitor? Derive its expression.

Where and in which form this energy is found?
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Instructions : All questions are compulsory. There are 26 questions in all.

(i) TWYE-T9F v v —-uve-3, Wue-v, Wve-T, Us-T 3N Wre-§|
This question paper has five sect:ons—Sectlon-A. Section-B, Section-C,
Section-D and Section-E. ‘

(iif) EvE-31 ¥ vta e ¥, WE W 1 3 ¥ 1 wvs-v § ol v ¥, m'&i
s IgE-ai e e, We i dnigeIi4sin T
At dhamsidm g, e Hssiw®
Section-A contains five questions of 1 mark each: Section-B contains
five questions of 2 marks each. Section-C contains twelve questions
of 3 marks each. Section-D contains one question of 4 marks and
Section-E contains three questions of 5 marks each. %

(iv) TWYE-T g @ve-3 % T Wl A iR faeeq % wrawm €
Internal choices are given in all questions of Section-D and Section-E.
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wWUE-31/ (Section-A)

mwmﬁmﬁmmﬁﬁ'mm“

e Wt g2 o

-2

-4

-5

-6

-7

-9

When aluminium impurity is added to pure germanium, which type
of semiconductor is obtained?

maﬂr&ummt?wﬂmmf@mﬂ _ [+4=1]
What is surface charge density? Write its SI unit.

fire ¥ P e whtew faren g § 2 (1]
What is the inductive reactance for direct current?

v ST AT P 1 FeEE e g €2 [1]
What is the mass of photon having frequency v?
ﬂmmﬁmﬁhmﬁ'lmt? : [1]

In which mirror a magnified image is formed?

' WUE-u/(Section-B) =
e 3 = aun faeda F @ sr fafeg [1+1=2]
Write two differences between interference and diffraction
of light. ' '
T FRA TR FHH 2400 + 10% a\wtlmﬂhmmml 2]
The resistance of carbon resistor is 2400 + 10% ohms. Write the
order of colour rings forit. _
TS 3R FI0Ed® (repeater) F w1¢ 3 A=r g1 [2]
Write two differences between transducer and repeater.

gt Ft e RE ¥ FR B g wen rar o, w6 i [2]

It is easier to start a car in summer season than in winter season, why?

NM-38 B
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q97-10 ﬁmmﬂAmB%ﬁagﬁmﬁmmﬁm= [2]

4 — s
2uF | 24F 2F

- Find out equivalent capacitance between the points 4 and B in the
following circuit :

4 — | 13
| 2¢F | 2uF  24F :

WUE-H / (Section-C)
w-1f  fag 9t fis fedifea wd 91 and-a1g oo% w9 Pris &

SRAITIR gt & | (3]
Prove that half-life of a radioactive sample is inversely proportional
to decay constant. '
w-12 mmw%mmmmmmmwm
o9 I Ao e e et . - 3]

. Derive formula for the magnetic field intensity at a point lies on the
broad side-on position due to a magnetic dipole. _
3 v i
w¥-13 P-N Y srie = § ? v vl o faga wRud sifest s /-7
aAfvrenefoes o6 TR [14+1+1=3]
What is P-N junction’ diode? Draw the circuit diagram for it in
reverse bias mode. Draw V-I characteristic curve also. i
-4 ol siiafe Toad w2 g 3 v fafer [142=3]
What is total internal reflection? Write two conditions for it.
wer-15" fre 1 i T - [1+1+1=3]
(37) & IS
(%) wera-Taega wa—
(%) fedt v
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T -17

UH-18
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wT-19

W¥-20

w-21

v -22
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Explain the meanings of the following :
(@) Field emission

(b) Photoclectric‘effect

(€) Cut-off potential

Gmmmwﬁwmmwﬁaﬂwmﬁmsmtlﬁw

* 9 T vEdRE T S [3]
The minimum deviation angle occurred by a prism of prism

angle 60° is 30°. Calculate the refractive index of the material of prism.

TR T wiwa & f sifvrpdia fafa) [1+1+1=3]
Write three postulates of Rutherford atomic model.

AR T At 1 A TR e whrde =) e A o E, 93 e
W W e W Sfimen wr v Et & 2 I [1+2=3])

If internal resistance of each cell is much less than. the external
resistance, which combination gives the maximum current? Explain.

AND 2 1 wifes Wi, mmmqﬁmvl?ml - [1+1+1=3)

Construct the logic symbol, Boolean expression and truth table of
AND gate.

T TN G G G = 102+ 5¢+1 8, WET ;%1 WA frreft-aa
Ao A AHe A ¥ 1r=5 mwmﬁMﬁm—mﬁm'
e ? ' -
'Ihemngneticﬂuxlinkedwiﬂaaclosedloop i8$5=10/2+5¢+ 1, where
¢ in,mil;i-weber and ¢ in second. What will be the induced em.f,
after 1= 5 seconds?

ﬁﬂtmmt?mﬁﬁﬁmﬁﬁMI
What is communication satellite? Write its two merits.

mﬁﬂmﬁamﬁmm%?mﬁmw
fafay)

How ultraviolet waves are Produced? Write its two important yses.

(3]

[1+2=3]

[1+2=3]
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WUB-T / (Section-D)

WF-23 199 A9 A F WY zgert v 91| 96 @ O 7 Tl fawd fevan w,
e frehies wrnht”’ ) 3w R v St dd o, Sl Sl W
W ot | 19 A e el ) gwgrn fF 76 HR & o e gl
Tl & g 4 w5 4 el w wed ¢, weraey Iuh Rl W
Taqo-aws @@ @ & s ¥ 1 IR smda Sk ¥ gRT SR A T
¥ forerd Rerewies v geia o W )
T ATV & AR W P v Femdfa: [1+2+1=4]
() e Prge-amE @ TSP E? |
(if) e P wr %) feen o A Fr w1 O W R
(iif) . s X i sl o el fean (v @) ?

Ajay and his friends went for a walk. There they saw a metallic chain
atﬁchedmammudmagmemltwﬁm;wﬁummme -
truck, “beware highly inflammable”. Ajay explained to his friends
that during motion of truck, magnetic lines of the earth are cut by its

' axle and due to this some e.m.f. will be induced across its ends. This
induced charge is discharging to the earth through this metallic chain
and explosive materials are safe. http://www.cgboardonline.com
Answer the following quesﬁomonthebasisoftheabovcpamm;

() When does an induced e.m.f. produce?

(i) Name and state the law which gives dircction of induced current.

(iii) Write the values displayed by Ajay (any fwo).

NM-38 B P.T.O.
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ey
OR

oo a1e s o weradt ara ferga 21gf e ¥ fre-%e % W@ IR
! weer & g A W e W@ 9 e 9w faee g v wOPR
911 39% T St 3 Tavamee gt 3R ST TeTR 39 TE # SR AT
T | IO T U Sval faan it Tee wera | yer Agfi W
=T fwam

T T8 ¥ AR R Firet vl & I g _ [2+1+1=4]
() ¥ g smfl i deem R g F R ?
(i) ST N g Sy ITER A R €, 59 @ i F g
e SR S § 1w ?
(iif) =t ¥ o gl a1 weelw fowan (¢ @) ?
Vijay walked bare foot to replace the fuse wire in kit-kat fitted with
the alternating current supply mains for his house. Suddenly he
screamed and fall on the floor. His son Amit heared the cries and
rashed to the place with shoes on. He took a wooden baton and used

it to switch off the mains supply.

Answer the following questions on the basis of above paragraph :

() What is the voltage and frequency of mains supply in India?

(i) These days most of the electrical devices we use require AC
voltage. Why?

(iif) Write the values displayed by Amit (any fwo).

WUE-§ / (Section-E) .
w-24" fog Fifg fr fredt 9t TS ¥ e T vl P v s W
wtwmwaﬁnm%mﬁmtw%ﬁm:ﬂ

forgrrefioran & 1 70 W w1 T o fofe 1 ARk SRR AT TS S mR, A
forgger v o W e ¥ 2 - [143+1=5]

Prove that the total electric flux associated with a closed surface :
is EI: times the total charge present inside the closed surface, where

&) is permittivity of free space. Write also name of the theorem. What
will be the value of electric flux if the charge lies outside the closed
surface? |

NM-38 B
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IaT
OR

wuiftr =t feafer i @ & 2 v st oo I ) 9 St R

w9 ¥ 3R el Wit it 4 2 [142+2=5)
What is the potential energy of a capacitor? Derive its expression.
Whereandinw_hich form this energy is found?

wy-2¢  Feit ey S ¥ o g i Be

WF-26

1 1 1
L AR, | | S
7= )[& R |
el Sl & warg ad T [5]

For a thin lens, prove that

1 11
2 alii = DNl= =N\
7 (1 )Rl X

where symbols have their usual meanings.

aqr
OR
H qERHd w1 i e ofifa T s g & R s
e ST Tt st gRfi T ghe # 2w g W) [2+3=5)

Draw the ray diagram to show the formation of image by compound
microscope and obtain an expression for the magnifying power when

final image is formed at least distance of distinct vision.

g wroaY JURR FUSEH F o8 S gy e g Wi A
¥ forg o T FRAT [5]

Deduce an expression for magnetic field at a point on the axis of a
current carrying circular coil.

NM-38 B

P.T.O.
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rar
OR
o Faeh srrdt T & 2 P Fech SRrTd 1 mifE Ye e 9
o Fog g A v s Al 9 e & i & argmea gt
1 3 [1+2+2=5]

What is moving coil galvanometer? Draw labelled diagram of
suspended coil galvanometer and prove that the deflection of a coil
is directly proportional to the current flowing through it.

tttttttttt
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Ll tall FIRET: 26 [ %@ gfka =
Towl No. of Questions : 26 ] [ Total No. of mu E.‘:', :
K-202201-C
e iifer-vme
Subject : Physics
HHY : 3 WO | | _ [ ot : 70
Time : 3 hours ] [ Maximum Marks : 70
fager : () it v Sfad € 1w v A 59 26 W E
Instructions : - All questions are compulsory. There are 26 questions in all.

(i) TEIE-TH % U I T—T0E-3, FUe-, WIS-T, WS- N WvE-§)
This question paper has five sections—Section-A, Section-B, Section-C,
Section-D and Section-E.

gue-31 ¥ uie 3 §, T&E w01 mtlw-iﬁﬂh'mt W% $
2 FF T IER-AH TR T E, W& § 3 3w ¥ 1 @ve—3H 4 aﬁmw
TH T iR grE-s A MR A €, WRw ¥ 5 siF € -
Section-A contains five questions of 1 mark edch. Section-B contains
five questions of 2 marks each. Section-C contains twelve questions
of 3 marks each. Section-D contains one question of 4 marks an:l.
Section-E contains three questions of 5 marks each.

(v) |ve-T au @ve-3 % ot vl ¥ ol fawey & wavm €1

Internal choices are given in all questions of Section-D and Section-E.

(ii1)


https://www.studydiscuss.in

-1
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WUE-3A / (Section-A)

seefrq AT T = § 2 v SI A fafag)
What is lincar charge density? Write its SI unit.

), Tl T BRI %1 FermA fRam Rm § 2
What is the mass of a photon having wavelength 1.7

¥ Y i & 4 3 afe fremd Wi &, A fra yen @
yaemE? -

When boron impurity is added to pure germanium, which type of
semiconductor is obtained?

F-T T WA AR aw B whafia T € 2
Whicthomsalw:yszdsmllhmgc?

et wra w1 fver A /& 1 ve o o wm R s e ?

The peak value of altemnating current is Jo. What is its root mean
square value?

WUZ-7 / (Section-B) .

G T Wil %10 470 + 5% 3im &, 39% T = %9 7o
The resistance of carbon resistor is 470 + 5% ohms. Write the order

of colour rings for it.

i oo g v 3 A s faflag)

Write two differences between polarized and unpolarized light,
WAR 3wl 3 e sl st ¥ 2 sio P )

Wﬁwmdiﬂnmeubemmmm:mdmimm
communication devices.

NM-38C
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(1
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(1]

2]

[1+1=2)

(2]
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We-11

WeT-12

W -13

W14

131
ﬂﬂqﬂﬂﬂﬁAaﬂtBtmmuﬁmmaﬁm: (2]

/A .'_—'_'l |'_—l |__'_I .'_"'—""B
SpF SuF SpF

Find out equivalent capacitance between the points A and B in the
following circuil :

T T |

ﬁgﬂwﬁmﬁmmﬂﬁmﬁm@ﬁﬁmtﬂﬁtﬂ? 12}

Conncction wires are made up of copper or aluminium, why?

wue-u/ (Secﬁon-C)

Hﬂ-ﬂbﬁmmﬂﬁamﬁmmt?mﬁmmﬂ

fafan) [1+2=3]
How microwaves are produced? Write its two important uses.

T T R AT G T ¢y = 22— 5t+ 7 8, T oy A el

Jax F a1 WA AT F §1 ¢ =2 Fhe WU A o fage-TwE
sEIRaRME? [2+1=3]
The magnetic flux linked with a closed loop is ¢ 5 = 22— 5¢+7, where

¢ in milli-weber and ¢ in second. What will be the induced e.m.f.

-after 1 = 2 seconds? .

fag AR frd Yedifees v w0t st arg So% & Frais &

HHA & GO TR ¢ | - . 3]
Prove that the mean life of a radioactive sample is reciprocal of

decay constant.

A7 = SiidfeE SRy T2 ? Sitaren YRR, RreR-aes T, fEi
a1 =T Wiy ¥ dey enfta | [1+2=3]

~ What is internal resistance of a cell? Derive the relation between
internal resistance, electromotive force,. potential difference and

external resistance.
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(4]
V=15 yof vt firon wt?mamm\nmn
What is total reflecting prism? Write its two important uses,

NOTﬂzmmm,wuimmmmmu [1+1+]=3)

Construct the logic symbol, Boolean expression and truth table of
NOT gate.

w-17 ﬁwmmm:
() P sarly
(i) +d Sem
(i) TafeTor 3 &a wopty

Explain the meanings of the following :

[1+2w3)

W¥T-16

[1+1+]=9]

() Thermionic emission
(if) Work function
(iif) Dual nature of radiation

WT-18  P-N ¥fy sriz 31 & I afvAfa ¥ fage oy wifes somr v/
mﬂ'ﬁ"ﬂim| http://www.cgboardonline.com [1+1+1=3]
What is P-N junction diode? Draw an electric circuit and construct
its V=] characteristic curve in forward bias.

WET-19°  60° oy S1e Ok i gra 3e0=1 et fraer Sora am 3808 1 i &
WY T i WA R (sin 49° = 0.7547) i3]
The minimum deviation angle occurred by a prism of prism angle
60° is 38°. Calculate the refractive index of the material of prism.

(sin 49° = 0.7547)
WeT-20 ESIR a8 I t S QW Iagd fafag) [1:2=3]
What is mmmﬁm system? Write its two important components.
gyr-21 R ¥ W wiew F 99 wE SRl fafag [1+1+1=3]

Write three drawbacks of Bohr's atomic model.
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wyT-23

3]

WUB-T/ (Section-D)

-wmm*:;;:ﬁ“”'“ﬂﬁwwmwm%
mm.mqmﬁ'“ﬂ“m““*jm*‘““
W%mhﬂmﬁmﬁﬁaﬂﬂﬁ#mzﬁ@

H 8 Yull 9w ¢, ey g 0 T
e 7ot St 91 < & 1 e v il 35 g e g 6T

¢ I W“Wﬁmt.
[1+2+1'—'=4]

T ATV F MR Wy w3 v AFAQ -

() 3R - ey o vt B 2

(i) 3@ forga v = Rew wen T Fram = M @ woA TafE!

(iif) 31T 3 Ft el = Wk o (@ @) ?

Ajay and his friends went for a walk. There they saw a metallic chain
attached to a truck touching the ground. It was also written on the
truck, “beware highly inflammable”. Ajay explained to his friends
that during motion of truck, magnetic lines of the earth are cut by its
axle and due to this some e.m.f. will be induced across its ends. This
induced charge is discharging to the earth through this metallic chain

and explosive materials are safe.
_Answer the following questions on the basis of the above paragraph :

() When does an induced e.m.f. produce?
(#) Name and state the law which gives direction of induced current.

(i) Write the values displayed by Ajay (any fwo).
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forer 37 WA T st Rt fag sfd e ¥ fre-4e % wE OR

# weert & e 7 T @ 0 T 7w e gy v W AR

w11 5u TH 3 3 Feemee T ot S vevaw 7 wm @ 2 AT

m.mquwmmmmwawmﬂ

i fa!

W ST F IR W e il & ae S [2+1+1=4)

() T H YE I W dreem ot s g2

(if) SRR N R ST v w0 €, = Y v d T,
Aree 30 w0 § ) =42

(i) @t 6 el o wele o (2 @) 2

Vijay walked bare foot to replace the fuse wire in kit-kat fitted with

the altemating current supply mains for his house. Suddenly he

screamed and fall on the floor. His son Amit heared the cries and

rashed to the place with shoes on. He took a wooden baton and used
it to switch off the mains supply.

Answer the following questions on the basis of above paragraph :
() What is the voltage and frequency of mains supply in India?

(i) These days most of the electrical devices we use require AC
voltage. Why?

(iif) Write the values displayed by Amit (any two).

WUE-§ / (Section-E)

feregga et AR Foae & i & argfn fed g e A
& fou =iv= wa Fifag) 51

- .Deduce an expression for magnetic field at a point on the axis of a

current carrying circular coil.
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w@ FEelt uRErd 0 2 Freifan g wrmdt & it et
we w5 W W T Ay awh w geed ¥ fadu &
W Lok . [1+2+2-5]

What is moving coil galvanometer? Draw labelled diagram of
suspended coil galvanometer and prove that the deflection of a coil

is directly proportional to the current flowing through it.

v-25 T %R fF el ot v R e aren ool g o IW W9
TS & S IR w1 < -;: 7 g &, el &, g A
Teregereiteran & | 50 wita 1 1 oft fiafiarg ) i 2w e 78 & A, D
o e = A faeen a2 (143+1=5]
Prove that the total electric flux associated with a closed surface
is % times the total charge present inside the closed surface, where
€, is permittivity of free space. Write also name of the theorem. What
will be the value of electric flux if the charge lies outside the closed surface?

raar
OR

i 3 e o w1 & 2 70 S = R | I S 159

9§ it Fwl It Awd g ? [142+2=5)
What is the potential energy of a capacitor? Derive its expression.
Where and in which form this energy is found?

wv-26 el wod o ¥ R fag Fif R

L S
7=t ‘)[& RJ
el Wl W a1 5
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hin lens, prove that

| L X
= { ')[R, R’]
where symbols have their usunl meanings,
37eIaT
OR
|qg% guneell @1 faa s wifaT aar
e FIQ s ifrm wfifE s g % fag =40
mi’haﬁw@mﬁ' [2+3=5]

Draw the ray diagram to show the formation of image by ¢

: . —

m'“?smpe 'and obtain an expression for the magnifyin poune

final image is formed at least distance of distinct visi Bpoverhen
on.

Foral
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